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QUESTION 1

A validation plan is used to do which of the following? (Select all that apply.)
A. Verify the design

B. Verify that the system is functional

C. Verify that the system meets requirements

D. Meet current best practices

Correct Answer: ABC

QUESTION 2

Network vMotion requires

A. network 1/O control
B. distributed switches
C. a Vmkernal port marked as Network vMotion

Correct Answer: B

QUESTION 3

You are a virtualization consultant working on a DR project. You have proposed a solution that uses SAN replication
technology to replicate production virtual machine files. This meets the cold standby requirement.

Which of the following could be a design constraint?

A. The hardware currently being used in the datacenter is out of support.

B. The company is undecided about the choice of centralized storage to be used in the enterprise.

C. The company is at the end of year 1 of a 3-year contract for the point-to-point link between Site A and Site
D. This link is currently 10 MB.

Correct Answer: C

QUESTION 4

You are designing a VMware HA platform based on vSphere converged network hardware and softwarebased iSCSI
storage. Which of the following is true?

A. vSphere 5 can provide protection for workloads in this design, using datastore heartbeats and management
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networks.

B. vSphere 5 datastore heartbeats may not provide additional protection in this design if a physical card containing the
management and storage networks fails.

Correct Answer: B

QUESTION 5

You are a VMware consultant who has been hired to take over a mismanaged VMware vSphere 5 platform estate. You
are presented with the vCenter administrator password and given the following information.

1.

The system has full production support from VMware.

2.

The platform has been suffering from performance problems for two weeks.
3.

No documentation exists.

Your role is to design and implement a platform that meets the following requirements: R0O01: Stable for current
workloads R002: Supportable by operations staff

Which of the following discovery methods should be used?
A. Active discovery
B. Passive discovery

Correct Answer: B
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